KVS PGT/TGT/PRT 2016 Previous Year Paper with

Answers

Directions for 1 to 3: Each of the following sentences has been divided
into four parts viz. (1), (2), (3) and (4). There is an error in one of the
parts. Identify the part which has the error.

1. Whole the/ Country applauded/ the courage of the/ armed forces.

(1) (2) (3) (4)

2. This custom/ has been prevalent/ in India/ since immemorial time.

(1) (2) (3) (4)

3. The Climate/ of Pune/ is more pleasant/ than Delhi
(1) (2) (3) (4)

Directions for 4 and 5: From each group of words chose the one which
can be substituted for the given definition.

4. Introductory part of a literary work:

(1) Introduction

(2) Preface

(3) Preliminary

(4) Prologue

5. A person who abstain completely from alcoholic drinks:
(1) Ascetic

(2) Abstainer

(3) Teetotaller

(4) Saint

Directions for 6 and 7: From the group of words which follows each
sentence, choose the word which is opposite in meaning to the underlined
word.

6. Religion teaches us not to run after the transient pleasures of
the world.

(1) Unethical

(2) Permanent

(3) Sinful



(4) Unnatural

7. There has always been a feeling of rancour between the two
leaders:

(1) Suspicion

(2) Rivalry

(3) Competition

(4) Friendliness

Directions for 8 and 9: Each of the following idioms/phrases is followed
by four alternatives. Choose the one which best expresses its meaning.
8. A red - letter day

(1) A day memorable for some joyful event.

(2) A day on which something dangerous took place

(3) A day on which one fails in an enterprise

(4) A day on which one meets one’s old friends

9. To show the white feather
(1) To act gracefully

(2) To assume airs

(3) To be fashionable

(4) To show signs of cowardice

Directions for 10 and 11: Complete each sentence given below with the
appropriate alternative from those that follow.

10. He never takes sides, and always remains
(1) Impartial

(2) Unbiased
(3) Prejudiced
(4) Candid

11. He is generally afraid as he lives in the world of

(1) Hallucination
(2) Allusion
(3) Illusions

(4) Conclusions



Directions for 12 and 13: Choose the word which best expresses the
meaning of the underlined word in each of the given sentences.

12. The film began with an eerie scene.

(1) Strange

(2) Dangerous

(3) Thrilling

(4) Wonderful

13. War is not the only inevitable means to decide a long-standing
dispute.

(1) Improbable

(2) Indefinite

(3) Imminent

(4) Unavoidable

Directions for 14 and 15: In each of the following groups of words only
one word has been correctly spelt. Identify the correct one.

14.

(1) Pathetic

(2) Pethatic

(3) Pathatic

(4) Pathtic

15.
(1) Dicieve

(2) Deceive
(3) Decieve
(4) Diceive

16. fArafaf@a aea # Rea v At gfet s ggraw gas A



17. TEETd #T g 9% - Qe fifav :
(1) g + arard

(2) &G + AWETT
(3) &€ + AT
(4) § + 3me1d

18. '#AQH e A fasafaf@d & ¥ wla-ur gorw §2 3% gfavw :
(1) acgey:

(2) 3cTANHG-
(3) FHAURYT|
(4) a9

19, 'ITITFHAT TR U FT TIIT AT 37 aFT F [T TEY 2reg &1 94
ffav :
(1) sfeea foarg,

(2) 39RaE
(3) warg
(4) IRITE.

20. 373 @ 3G qoiat HT AFew giaw:
(1) &

(2) 35sad
(3) TR
(4) adrem

21, 'TUT A WA GHEAT $H AFT A FlT A FT §2 38 ghAC
(1) FHTE-

(2) 3rquTsrd



(3) qoteE|

(4) HicTereyd

22, 'Aeell d W 36 21’ 39 gy A WifFd ug H FiT-a1 FR* §? Aeafaf@qa
RFeul 7 99 ffow :

(1) FFEIUsT RS

(2) FdPRS|

(3) 3UICTeT ShReh

(4) HTFADRIOT .

23. 3 fAf&se 37aRY & 9T - IRT I F FROT 394F AT T ) FER @ar §, 39 F4
Fegd 22 Rfcea fifaT :
(1) GgFd fonar

(2) gHATH
(3) PR+
(4) @fr

24. ' 33 W §1 39 99T A ‘33 @ B Fw ywr i 2
(1) 9RO forar

(2) THdH,
(3) 3pHS
(4) GaTAST

25, Arafaf@d Aeedl # ¥ v e '9813" 1 gATard) gl §, 3¢ BV :
(3) e -

(2) ot
(3) |

(4) 3Tt



26. 'SR’ Asg A YIFA TeIT HT TIF AT :
(1) 39

(2) g1
(3) IR
(4) 3=

27. Rrfaf@d Reeal # ¥ 39 Reeq F aifcr FaHd Fao faAvor o 8 :
(1) 3IRT 9T, T8

(2) G&HA, HR, JaqAT

(3) e, 3T, geel
(4) oIS, I, §H

28. farafaf@a Reedt & @ T aeg gfaw |
(1) efrer

(2) asf
(3) a8=d
(4) H9cs

29. 'Jrafea’ e F1 fAqdiard® e fAwaifera Awedr & gfaw |
(1) 3=fea

(2) deEgdar
(3) gFAfT
(4) 3GrETdr,

30. 'IsAA #H i 91 39HeT 2?2 AT Rd Qeeal A A oIfev :
(1) 34

(2) 39

(3) 31



(4) 39

31. Which State will become the first Indian state to link exams
with Adhar Card?

(1) Odisha

(2) Kerala

(3) Goa

(4) Bihar

32. Which one of the following has recommended the creation of
the office of ‘Lokpal’?

(1) Inter-State Council

(2) National Police Commission

(3) States Reorganisation Commission

(4) Administrative Reforms Commission

33. Match each of the following Nobel Prize Winners of 2016 with
the discipline in which they have received the prize.

Names Discipline
(@) David Thouless, Duncan Haldane and (i)  Medicine
Michael kosterltiz
(b) = Yoshonori Ohsumi (i)  Economics
(c) Bernard Feringa, Jean-Pierre and Fraser (iii) =~ Physics
Stoddart
(d) Oliver Hart and Bengt Holstorm (iv) Chemsitry
(a) (b) (c) (d)
(1) (iii) (i) (iv) (i)
(2) (i) (i) (iii) (iv)
(3) (iv) (iii) (i) (i)
(4) (iii) (iv) (i) (i)

34. Who has been awarded the V. Shantaram life-time
achievement award at Mumbai International Film Festival,
Mumbai (2016)?

(1) Kabir Bedi

(2) Manoj Kumar

(3) Ashutosh Gowariker



(4) Naresh Bedi

35. The Kalinga Prize is given by which of the following?
(1) Government of Odisha

(2) Biju Patnaik Foundation
(3) UNESCO
(4) Council for Science and Industrial Research

36. The Working language/s of the UNESCO is/are:
(1) English, French and Russian

(2) English Only

(3) French only

(4) English and French

37. Who has won the gold medal in Men’s Single Tennis in Rio
Olympics 2016?

(1) Rafal Nadal

(2) Andy Murray

(3) Novak Djokovie

(4) Del Potro

38. The Supreme Court guidelines issued in the ‘Visakha Case’
pertain to:

(1) Sexual harassment at workplace

(2) Domestic Violence

(3) Rape and Sexual Violence

(4) Trafficking in Women

39. Who became the youngest Grand Master in India?
(1) Parimarjan Negi

(2) Viswanath Anand

(3) Dibendu Barua

(4) R. Praggynandhaa

40. Who among the following Indian Cricketers has won the

Arjuna Award in 2016?
(1) Manoj Tiwary



(2) Robbin Uthappa
(3) Sreenath Arvind
(4) Ajinkya Rahane

41. Jawaharlal Nehru Award is given for:
(1) Social Work

(2) Government Service
(3) Literary Work
(4) International Understanding

42. Man Booker International Prize 2015 was won by:
(1) Malala Yousafzai

(2) Alice Munvo

(3) Laszlo Krasznahorkai

(4) Lydia Davis

43. In Rio Olympics 2016 which country finished at the top of the
table with gold medals?

(1) Russia

(2) USA

(3) China

(4) Great Britain

44. Which one of the following is autobiography of Mary Kom?
(1) True Colours

(2) Playing It My Way

(3) Truth Always Prevails

(4) Unbreakable

45. The Paris Agreement on climate change that came into effect
in November 2016 deals with:

(1) Green house gases emissions mitigation

(2) Reduction in fossil fuel usage

(3) CO, emissions mitigation
(4) Reduction in Uranium production



46. From among the following which female badminton player got
silver medal at Rio Olympics?

(1) Neha Pandit

(2) Saina Nehwal

(3) P.C. Thulasi

(4) P.V. Sindhu

47. Bouncing of cheques has become an offence now. What is the
punishment at present for the same?

(1) Three year imprisonment

(2) Six month imprisonment

(3) One year imprisonment

(4) two year imprisonment

48. Where has the world’s largest single roof top solar power
plant been inaugurated recently?

(1) Jodhpur

(2) Amritsar

(3) California

(4) Spain

49. In which field did Andrew Wiles win the Abel Prize (2016)?
(1) Archaeology

(2) Maths

(3) Science and Medicine

(4) Art and Culture

50. Which state government launched the new facilities of virtual
and digital classroom in ITI's on the occasion of world youth skills
day?

(1) Goa

(2) Bihar

(3) Madhya Pradesh

(4) Maharashtra

Direction: In question no. 51 to 53 as statement is followed by two
conclusions/course of action I and II. Decide which conclusion/course of



action can logically be drawn, if we consider that the information given in
the statement is true in all respects.

51. Statement:

To maintain law and order in country, Police department need major
reforms, Present Working condition of policemen are not good.
Course of Action:

(I) More facilities like, well equipped vehicles, latest arms and
ammunition, better salary should be provided to policemen.

(II) Man force at police services should be increased.

(1) If neither (I) nor (II) follows.

(2) If only (I) follows.

(3) If only (II) follows.

(4) If either (I) or (II) follows.

52. Statement:
India is a Secular Country.

Conclusions:
(I) All Indians enjoy some rights irrespective of their religion.

(II) Indian Constitution doesn’t believe in religion.
(1) If neither conclusion (I) nor (II) follows.

(2) If Only Conclusion (I) follows

(3) If Only Conclusion (II) follows

(4) If both Conclusions (I) and (II) follow.

53. Statement:
Music not only entertains but also improves mental health.

Conclusions:
(I) Music is a source of entertainment.

(II) To keep yourself mentally fit you should listen to music.
(1) If neither conclusion (I) nor (II) follows.

(2) If Only Conclusion (I) follows

(3) If Only Conclusion (II) follows

(4) If both Conclusions (I) and (II) follow.



54, Five friends A, B, C, D and E are sitting close to each other at
an equal distance. A is sitting to the North of B and C is sitting to
East of D. E is sitting to the West of B and D is sitting to the South
of E, then in which directions is C sitting with respect to A?

(1) West

(2) North

(3) South

(4) East

55. If the positions of the first and fifth digits (from right hand
side) in the number 72103426 are interchanged, similarly the
positions of second and sixth digits are interchanged and so on for
third and seventh digits also, then what should be the product of
the sum of first two and last two digit?

(1) 15

(2) 7

(3) 5

(4) 12

56. In a clock at 6:15 am, hour needle is in North-East direction.
In which direction would be minute needle at 12:45 pm?

(1) South West

(2) North East

(3) South East

(4) North West

57. Salmaan and Aamir like Harmonium and Piano, Aamir and
Akshay like Flute and Sitar, Shahrukh and Varun like Piano and
Tabla but Salmaan, Akshay and Varun like Guitar?

Who likes Flute, Sitar and Guitar?

(1) Salmaan

(2) Aamir

(3) Akshay

(4) Varun

58. Identify the Diagram which best represent the classes given

below:
Year, Month, Week
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Directions: In Question no. 59 to 61 Select the related
word/number/figure from the given alternatives.
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60. Andhra Pradesh : Telangana :: ? : Haryana.
(1) Punjab

(2) Himachal Pradesh

(3) Uttar Pradesh



(4) New Delhi

61.100: 10 :: ? : .001
(1) 0.01

(2) 10
(3)1
(4) 0.1

62. When is ‘Human Rights Day’ observed every year?
(1) December 28

(2) December 10
(3) December 8
(4) December 25

63. FIFA World Cup 2018 will be held in:
(1) Qatar

(2) France

(3) Netherlands

(4) Russia

64. Who has been selected for Bharat Ratna Randit Bhimsen Joshi
Classical Music Award for 2015-16?

(1) Manohar Shukla

(2) Shiv Kumar Sharma

(3) Pandit Ram Narayan

(4) Jasraj Pandit

65. Kalinga Award is given for:
(1) Sports

(2) Art

(3) Literature

(4) Science

66. In 2016, which Island has been declared to be the largest

River Island in the world?
(1) Dibru Saikhowa, Assam



(2) Bratislava, Slovakia

(3) Majuli, Assam

(4) Csepel Island, Hungary

67. What was the position of India in terms of medal tally at the
recently concluded Rio Olympics?

(1) 674

(2) 48™

(3) 51

(4) 70%"

68. The 2020 Summer Olympics will be held in:
(1) Seoul

(2) London

(3) Tokyo

(4) Doha

69. Currently how many member countries are there in the UN?
(1) 197

(2) 190

(3) 193

(4) 196

70. Which among the Following novels won the Pulitzer Prize for
fiction in 2016?

(1) To kill a Mockingbird

(2) The road

(3) The Sympathizer

(4) The Old Man and The Sea

71. The Largest exporter of cotton textiles in the world is:
(1) Japan

(2) USA

(3) China

(4) India

Direction: In question no. 72 to 74 chooses the correct alternative from

the given ones that will complete the number/letters/figure series.
72.



{1

(3) o n

73. 2, 3, 14, 29, 50, ....2....
(1) 72

(2) 75
(3) 77
(4) 69

74. ABDG, CDFL, EFHK, GHIM?
(1) JKMP

(2) IKMP

(3) IJLO

(4) IJLN

75. After starting from her school, Sheela walked 2 Km towards
East, then turns towards her left and walked 2 Km more. She took
left turn again and walked for 2 Km. Now, in which direction is she
standing from her school and at what distance?

(1) 2 Km, South

(2) 4 Km, North

(3) 4 Km, East

(4) 2 Km, North

76. If 'S'denotes '+’, ‘D’ denotes '-', ‘P’ denotes ‘X’ and '‘Q’ denotes
‘+’ then the value of following equation is:



5P6Q1558D5="

(1) 10

(2) 4

(3)5

(4) 6

77. In a class of 45 students Reema Secured 12" rank in the class
but her best friend Sona secured three ranks below her. What is
the rank of Sona in class from below?

(1) 33

(2) 30

(3) 31

(4) 28

78. Study the following diagram carefully:

« NMusiclans
L ! Lo SIneers

- Lvricists

Which regions of the diagram don’t show any lyricists?
(1) ACE

(2) ABC
(3) ABD
(4) ACD

79. Which of the three cubes given below can be created by
folding the given design?



(1) All (I), (II) and (III) can be formed.
(2) Only (I) can be formed.

(3) Only (II) and (III) can be formed
(4) Only (III) can be formed

80. The diagram given below represents the students who study
Physical Education, Music, Sanskrit and Psychology. Study the
diagram and identify the region which represents students who
study Psychology as well as Music but not Sanskrit and Physical
Education.

Musiy —J“‘ A'F!'B * "\\\ Ill'll‘}:}'

5\ '
- ' s N
.‘f ) g.n,

Sonskrit =4 DI C

L)
.

["ivsicad vducation

()A+B+F+E

(2) F

(3)A+B

(4)A+F+B

81. If in a certain code language MUSICIAN is written as
OSUGEGCL then how can DIRECTOR be written in that Code?
(1) FGTCERQP

(2) FKTGEVQT

(3) FGTGEUQT

(4) FGUDERQP

82. In certain code language MUSIC is written as NIV + % SITAR

is written as "' "~ “? . How will ARTIST be written in same code
language?

(1) V@ pe

) AdEF.+¥

(}) VEmed+d

(,” A d-+V o



83. Select the correct combination of nhumbers to form a
meaningful word.
G E S N I R
1 2 3 4 5 6
(1) 365421
(2) 325146
(3) 354126
(4) 452631
Direction: In question no. 84 and 85 select the one word which is
different from the other than alternatives.
84.
(1) Football
(2) Cricket
(3) Hockey
(4) Volleyball

85.
(1) Newspaper

(2) E-mail
(3) Telephone

(4) Mobile phone

86. Select the correct combination mathematical signs to replace

* Signs and to balance the following equation:
9*3*6=24%*12

(1) X + +
(2) - + -
(3) + - -

4) + + -

87. Which of the following symbols should be placed in the blank
spaces respectively (in the same order from left to right) in order

to complete the given statement in a manner that make the
conclusions F > T and U < E definitely true?
Statement: F L U T E



(1) >==<

(2) <==>
3)>==>
4)<==<

88. From the given alternatives select the word which cannot be
formed by using the letters in the given word.
MASTERMIND
(1) STAND
(2) SAINT
(3) SISTER
(4) SATIN
89. Pointing to a boy, a man said. “"His mother is only daughter of
my father.” How is that man related to the boy’s mother?
(1) Son
(2) Husband
(3) Father
(4) Brother
90. In a certain code language, ‘De Va ni’ means ‘music is life’, ‘ni
ko va’ means ‘life is beautiful’, ‘va su te’ means ' live long life’.
Which of the following means ‘beautiful’?
(1) De
(2) ni
(3) ko
(4) Va

Answer Key:

1 46

1 4
2 4 47 4
3 4 48 2
4 4 49 2
5 3 50 4
6 2 51 2
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53
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15
16
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58
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65
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